Ther Adv Infect Dis

2023, Vol. 10: 1–14 DOI: 10.1177/ 20499361231212074

© The Author(s), 2023. Article reuse guidelines: sagepub.com/journalspermissions

# Global evaluation of the antibacterial activity of Ceftolozane/Tazobactam against ESBLs-producing *Escherichia coli* and *Klebsiella pneumoniae*: a systematic review and meta-analysis

# Marzieh Rahim Khorasani, Soodabeh Rostami, Arash Bakhshi and Raheleh Sheikhi

# Abstract

**Background:** Ceftolozane/Tazobactam is a  $\beta$ -lactam/ $\beta$ -lactamase inhibitor combination with a high range of efficacy and broad-spectrum action against multidrug-resistant bacterial strains.

**Objectives:** The present study aimed to analyze the *in vitro* activity of Ceftolozane/Tazobactam against extended-spectrum  $\beta$ -lactamases (ESBLs)-producing *Escherichia coli* (ESBLs-EC) and *Klebsiella pneumonia* (ESBLs-KP) in the published literature to provide international data on the antimicrobial stewardship programs.

**Design:** Systematic review and meta-analysis.

**Methods:** A systematic literature search was conducted on the Web of Science, Embase, PubMed, Scopus, and Google Scholar electronic databases from the beginning of databases to December 2022 to cover all published articles relevant to our scope.

**Results:** At last, 31 publications that met our inclusion criteria were selected for data extraction and analysis by Comprehensive Meta-Analysis Software. The pooled prevalence of Ceftolozane/Tazobactam susceptibility for ESBLs-EC and ESBLs-KP was estimated at 91.3% [95% confidence interval (CI): 90.1–92.5%] and 65.6% (95% CI: 60.8–70.2%), respectively. There was significant heterogeneity among the 31 studies for ESBLs-EC ( $\chi^2$ =91.621; p < 0.001;  $l^2$ =67.256%) and ESBLs-KP ( $\chi^2$ =348.72; p < 0.001;  $l^2$ =91.4%). Most clinical isolates of ESBLs-EC had MIC<sub>50</sub> and MIC<sub>90</sub> at a concentration of 0.5 and 2µg/mL [minimum inhibitory concentration (MIC) at which 50% and 90% of isolates were inhibited], respectively. In contrast, most clinical isolates of ESBLs-KP had MIC<sub>50</sub> and MIC<sub>90</sub> at a concentration of 1 and 32µg/mL, respectively.

**Conclusion:** Based on the meta-analysis results, Ceftolozane/Tazobactam has a more promising *in vitro* antibacterial activity against ESBLs-EC isolates from different clinical sources than ESBLs-KP isolates. Therefore, Ceftolozane/Tazobactam can be a useful therapeutic drug as an alternative to carbapenems. Randomized clinical trials are needed to provide clinical evidence to support these observations.

*Keywords:* antibacterial activity, Ceftolozane/Tazobactam, ESBL, *Escherichia coli, Klebsiella pneumoniae* 

Received: 17 May 2023; revised manuscript accepted: 18 October 2023.

#### Correspondence to: Raheleh Sheikhi Department of

Microbiology, Virology and Microbial Toxins, School of Medicine, Guilan University Complex, Tehran Road Km 6th, Rasht, 3363, Guilan, Iran

## sheikhirahele@gmail.com

Marzieh Rahim Khorasani

Infectious Diseases and Tropical Medicine Research Center, Isfahan University of Medical Sciences, Isfahan, Iran

## Soodabeh Rostami

Nosocomial Infection Research Center, Isfahan University of Medical Sciences, Isfahan, Iran

## Arash Bakhshi

Student Research Committee, Schoolof Medicine, Guilan University of Medical Sciences, Rasht, Iran

journals.sagepub.com/home/tai



Creative Commons Non Commercial CC BY-NC: This article is distributed under the terms of the Creative Commons Attribution-NonCommercial 4.0 License (https://creativecommons.org/licenses/by-nc/4.0/) which permits non-commercial use, reproduction and distribution of the work without further permission provided the original work is attributed as specified on the Sage and Open Access pages (https://us.sagepub.com/en-us/nam/open-access-at-sage).

## Introduction

Extended-spectrum β-lactamases (ESBLs)producing Enterobacterales with two predominant ESBLs-producing Escherichia pathogens, coli (ESBLs-EC) and ESBLs-producing Klebsiella pneumoniae (ESBLs-KP), cause infections in both community and hospitalized patients have become a global health problem with high morbidity and mortality rates worldwide.<sup>1-3</sup> Infections caused by ESBLs-producing Enterobacterales than comparable infections caused by non-ESBLs-producing bacteria are associated with lower therapeutic response, longer hospital stays, and more significant costs.4,5 Carbapenems are widely recommended as a first-line drugs for treating serious invasive ESBLs-EC and ESBLs-KP infections.<sup>6</sup> However, the increase in carbapenems' use leads to the expansion of carbapenem-resistant and Carbapenemase-Enterobacterales. Therefore, producing for carbapenems conservative usage, it is necessary to use alternatives to carbapenems such as  $\beta$ -lactam/ $\beta$ lactamase inhibitors to treat infections caused by ESBLs-producing Enterobacterales.4,5

Ceftolozane/Tazobactam is a  $\beta$ -lactam/ $\beta$ -lactamase inhibitor combination with a broad range of efficacy. It is active against *Pseudomonas aeruginosa*, many multidrug-resistant strains, and most ESBLsproducing Enterobacterales strains. The United States Food and Drug Administration approved Ceftolozane/Tazobactam in December 2014 for the treatment of complicated intra-abdominal infections, complicated urinary tract infections, and acute pyelonephritis.<sup>2,7,8</sup> Tazobactam, an inhibitor of most class A and some class C  $\beta$ -lactamases, broadens the in vitro coverage of Ceftolozane to improve the sensitivity of ESBLs-producing Enterobacterales.<sup>8,9</sup>

This study aimed to evaluate the in vitro efficacy of Ceftolozane/Tazobactam as a  $\beta$ -lactam combination agent against ESBLs-producing *E. coli* and *K. pneumonia* based on the published literature.

## Materials and methods

## Search strategies

A systematic review was performed using the Preferred Reporting Items for Systematic Reviews and Meta-Analysis recommendations. This systematic review included searching various electronic bibliographic databases such as Web of Science, PubMed, Embase, Scopus, and Google Scholar to identify all related studies published from the beginning of databases to December 2022. The keywords were included in the articles' title, abstract, or full text. We used a combination of predefined keywords such as 'Ceftolozane-Tazobactam' AND 'Escherichia coli OR E. coli' AND 'Extended-spectrum  $\beta$ -lactamase OR ESBL' AND 'Klebsiella pneumoniae OR K. pneumoniae' AND 'drug resistance OR antibiotic resistance OR antibiotic susceptibility' AND 'Minimum Inhibitory Concentration OR MIC' AND 'Clinical sample' in the titles, abstracts, and keywords fields.

## Selection criteria and quality assessment

Two reviewers independently checked the database results with the related keywords. They surveyed the titles, abstracts, and full texts to apply eligibility for inclusion based on the inclusion criterion, and any inconsistencies between reviewers were resolved by debate. There were no restrictions imposed on the language in our search, but the abstract must be available in English at the very least. The research was restricted to cross-sectional publications indexed on the Web of Science, PubMed, or Scopus. Related studies with the following criteria were included in our study:

(1) Antibacterial activity was determined using the standard method, such as broth micro-dilution<sup>10–13</sup>; (2) MIC 50, MIC 90 (minimum inhibitory concentration at which 50% and 90% of ESBLs-EC and ESBLs-KP isolates were inhibited); and their MIC ranges were reported; and (3) original articles that were performed on clinically derived isolates.

Meanwhile, exclusion criteria were: (1) studies that did not use the antibacterial susceptibility testing method; (2) studies with a sample size of fewer than 10 isolates; (3) studies that were performed on samples with animal or environmental origin; and (4) studies that were performed on *K. pneumoniae* carbapenemase-producing bacteria or other carbapenemases. In addition, reviews and systematic review articles, case reports, clinical trials, and congress abstracts with no sufficient data were disregarded. Any other similar articles were looked up in the reference lists of all related publications. All susceptibility rates in this study were evaluated and reported based on the Clinical and Laboratory Standards Institute (CLSI) breakpoints.<sup>12</sup>

## Quality assessment and data extraction

Two researchers assessed eligible studies' quality separately using a critical appraisal checklist developed by the nine-point Joanna Briggs Institute, and any disagreement was resolved by consensus.<sup>14</sup> Items related to the title and abstract, introduction, methods, results, discussion, and other information were determined, and a score was assigned to each item.

Then, for all eligible studies, the following data were extracted: the first author's name, date of publication, date of study performing, the geographical distribution of clinical samples, sample size, MIC results, and antibiotic susceptibility rate.

## Statistical analysis

Meta-analysis was performed using the random effects model to estimate the pooled prevalence and corresponding 95% confidence interval (CI). Heterogeneity between studies was evaluated

using Cochran's Q statistic and the  $I^2$  index. Publication bias was graphically assessed by a visual examination of the funnel plot and mathematically measured using Egger's weighted regression test (p < 0.05 indicated statistically significant publication bias). A meta-regression using the random-effect model (method of moments) was performed to determine whether the prevalence of ESBLs strains was modulated by time (performed years). Comprehensive Meta-Analysis Software Version 3 (Biostat Inc. Englewood, NJ, USA) analyzed data and the construction of graphs.

## Results

We selected 31 eligible studies for inclusion in our meta-analysis. A flowchart depicting the literature searches and study selection process is provided in Figure 1. The main detailed



**Figure 1.** Flowchart of the literature search strategy and study selection.

characteristics of each included article are presented in Tables 1 and 2.

This study reviewed 31 articles from various countries across different regions, including North and South America, Asia, the Middle East/Africa, Asia/Pacific, and Latin America. We investigated several collections of ESBLs-producing *E. coli* and *K. pneumoniae* clinical isolates to determine the in vitro activity of Ceftolozane/Tazobactam through the evaluation of MICs.

According to this evaluation, in 28 studies, *E. coli* and *K. pneumoniae* isolates were grouped as

Table 1. The main characteristics of stu	dies included in the meta-analysis	or ESBLs-EC isolates.
--	------------------------------------	-----------------------

No.	First author	Publication year	Preformed time	Sample source	ESBL-EC sample size No.	MIC₅₀/ MIC <sub>90</sub> µg/mL	MIC range µg/mL	Susceptibility rate %	Ref.
1	Shortridge	2022	2016-2018	Australia, New Zealand	143	0.25/1	0.12 to >32	94.4 (135)	15
2	Hernández- García	2022	2016-2018	Spain, Portugal	75	0.5/4	0.12 to >32	89.3 (67)	16
3	Ahmed	2022	2012-2013	Qatar	38	0.38/0.75	0.19-256	97.4 (37)	17
4	Pfaller	2022	2016-2018	Asia	314	0.5/2	≤0.06 to >32	90.4 (284)	18
5	Karlowsky	2021	2018-2019	US	74	ND	ND	86.5 (64)	19
6	Belley	2021	2016-2018	US, Europe	418	0.25/2	0.06-64	93.3 (390)	20
7	Shortridge	2021	2012-2018	US	1698	0.5/2	≤0.03 to >32	92.8 (1576)	21
8	Pfaller	2020	2015-2018	US	235ª	0.5/1	≤0.06 to >32	96.6 (227)	22
					84 <sup>b</sup>	0.5/1	≤0.06 to >32	95.2 (80)	
					27°	0.5/2	≪0.06-4	96.3 (26)	
				Europe	563ª	0.25/1	≪0.06 to >32	95.4 (537)	
					114 <sup>b</sup>	0.25/2	≤0.06 to >32	92.1 (105)	
					41°	0.5/1	≪0.06-32	95.1 (39)	
9	Hirsch	2020	2012-2017	US	90	0.5/1	0.25-128	97.8 (88)	23
10	Golden	2020	2015-2017	Canada	29	0.5	≪0.12-2	100 (29)	24
11	García- Fernández	2020	2017-2018	Spain, Portugal	29	1/1	0.25-2	100 (29)	25
12	Beirão	2020	2016-2017	Brazil	102	0.5/2	ND	92.2 (94)	26
13	Kuo	2020	2015-2016	Asia-Pacific	45	0.5/2	ND	93.3 (42)	27
14	Karlowsky	2019	2016	Europe, Middle East/Africa, Asia/Pacific, Latin America, US/Canada	2144	0.5/2	<0.06 to >32	90 (1930)	5
15	Sader	2019	2018	US	226	0.5/2	ND	91.5 (207)	28

(Continued)

No.	First author	Publication year	Preformed time	Sample source	ESBL-EC sample size No.	MIC₅₀/ MIC <sub>90</sub> µg/mL	MIC range µg/mL	Susceptibility rate %	Ref.
16	Shortridge	2019	2012-2016	US	119	0.5/2	0.06 to >32	92.4 (110)	9
				Europe	131	0.5/4	0.06 to >32	87 (114)	
17	Hatem Amer	2019	2016-2018	Egypt	50	0.064/0.25	0.064-0.25	100 (50)	4
18	Carvalhaes	2019	2015-2017	US	134	0.5/2	0.03 to >32	91.0 (122)	29
19	García- Fernández	2019	2016-2017	Spain	46	0.5/16	0.25 to >64	84.8 (39)	30
20	Bouxom	2018	2016	France	100	1/2	0.25-4	78 (78)	2
21	Seifert	2018	2014-2015	Germany	32	0.5/2	0.25-16	81.3 (26)	31
22	Shortridge	2017	2013-2014	US	966	0.5/2	0.03 to >32	92.2 (891)	32
23	Pfaller	2017	2012-2015	Europe	559	0.5/2	0.03 to >32	92.7 (518)	3
24	Pfaller	2017	2013-2015	minus China, Australia, New Zealand	198	0.5/4	0.06 to >32	87.9 (174)	33
25	Pfaller	2017	2013-2015	Latin American (Argentina, Brazil, Chile, Mexico)	238	0.5/2	0.06 to >32	91.6 (218)	34
26	Pfaller	2017	2013-2015	Australia, New Zealand	47	0.25/0.5	0.06-2	100 (47)	35
27	Tato	2015	2013	Spain	30	0.5/1	0.25-2	100 (30)	36
28	Sader	2014	UN	Europe	715	0.5/4	≤0.12 to >32	89.9 (643)	37
29	Sader	2014	2012	US, Europe	38 <sup>d</sup>	0.5/32	0.25 to >32	78.9 (30)	38
					170 <sup>e</sup>	0.5/2	≤0.12-16	97.1 (165)	
30	Farrell	2014	2012	US, Europe	76	0.5/4	≤0.5 to >32	93.4 (71)	39
31	Farrell	2013	2011-2012	US	327	0.5/4	0.03 to >32	88.4 (289)	40

#### Table 1. (Continued)

 $^{\circ}$ Patients >65 years old.

<sup>b</sup>Intensive care unit.

 ${}^{\rm c}{\rm Immunocompromised\ patients}.$ 

<sup>d</sup>Intra-abdominal infections

<sup>e</sup>Urinary tract infections

ESBL, extended-spectrum β-lactamase; ESBLs-EC, ESBLs-producing *Escherichia coli*; IAI, intra-abdominal infections; MIC, minimum inhibitory concentration; ND, no data; UTI, urinary tract infections; UN, unknown.

'ESBL-phenotype' based on the CLSI screening criteria for potential ESBL production, that is, MIC of  $\ge 2 \text{ mg/L}$  for ceftazidime or ceftriaxone or aztreonam. In three studies, both phenotypic and molecular methods were used to determine and confirm ESBLs production.<sup>20,24,27</sup> Most clinical isolates of ESBLs-EC had MIC<sub>50</sub> at a concentration of 0.5 µg/ mL which 50% of the isolates were inhibited. In contrast,  $MIC_{90}$  was at a concentration of  $2\mu g/mL$  which 90% of the isolates were inhibited.

In these studies, the pooled prevalence of Ceftolozane/Tazobactam susceptibility for ESBLs-EC isolates was assessed at 91.3% (95%

# THERAPEUTIC ADVANCES in Infectious Disease

No.	First author	Publication year	Preformed time	Sample source	ESBL- KP sample size No.	MIC₅₀/ MIC₅₀ µg/mL	MIC range µg/mL	Susceptibility rate %	Ref.
1	Shortridge	2022	2016-2018	Australia, New Zealand	29	0.5/2	0.12 to >32	93.1 (27)	15
2	Hernández- García	2022	2016-2018	Spain, Portugal	66	1/16	0.25 to >32	68.2 (45)	16
3	Ahmed	2022	2012-2013	Qatar	55	0.38/1	0.25/1.5	100 (55)	17
4	Pfaller	2022	2016-2018	Asia	261	4/>32	0.06 to >32	47.1 (123)	18
5	Karlowsky	2021	2018-2019	US	85	ND	ND	67.1 (57)	19
6	Belley	2021	2016-2018	US, Europe	299	1/32	0.06 to >64	70.9 (212)	20
7	Shortridge	2021	2012-2018	US	675	1/16	≤0.03 to >32	77 (520)	21
8	Pfaller	2020	2015-2018	US	87ª	1/16	≤0.06 to >32	85.1 (74)	22
					49 <sup>b</sup>	1/8	≤0.06 to >32	79.6 (39)	
					24 <sup>c</sup>	1/16	≤0.06 to >32	75 (18)	
				Europe	289ª	1/32	≤0.06 to >32	67.1 (194)	
					173 <sup>b</sup>	2/32	≤0.06 to >32	61.3 (106)	
					24 <sup>c</sup>	2/16	0.12 to >32	58.3 (14)	
9	Hirsch	2020	2012-2017	US	26	1/16	0.25-256	76.9 (20)	23
10	Golden	2020	2015-2017	Canada	11	2	0.25 to >64	54.5 (6)	24
11	García- Fernández	2020	2017-2018	Spain, Portugal	43	2/32	0.25 to >64	55.8 (24)	25
12	Beirão	2020	2016-2017	Brazil	144	16/>32	ND	36.1 (52)	26
13	Kuo	2020	2015-2016	Asia-Pacific	87	2/>32	ND	65.5 (57)	27
14	Karlowsky	2019	2016	Europe, Middle East/Africa, Asia/ Pacific, Latin America, US/ Canada	1343	1/>32	≤0.06 to >32	70.1 (941)	5
15	Sader	2019	2018	US	61	1/>16	ND	80.4 (49)	28
16	Shortridge	2019	2012-2016	US	44	0.5/4	0.12-16	86.4 (38)	9
				Europe	113	1/16	0.12 to >32	67.3 (76)	
17	Hatem Amer	2019	2016-2018	Egypt	50	0.094/0.25	0.094-0.25	100 (50)	4
18	Carvalhaes	2019	2015-2017	US	116	1/8	0.03 to >32	80.2 (93)	29

# Table 2. The main characteristics of studies included in the meta-analysis for ESBLs-KP isolates.

(Continued)

No.	First author	Publication year	Preformed time	Sample source	ESBL- KP sample size No.	MIC₅₀/ MIC₅₀ µg/mL	MIC range µg/mL	Susceptibility rate %	Ref.
19	García- Fernández	2019	2016-2017	Spain	22	1/16	0.25 to >64	77.3 (17)	30
20	Bouxom	2018	2016	France	50	1/4	0.5-8	52 (26)	2
21	Seifert	2018	2014-2015	Germany	40	1/4	0.25 to ≥128	62.5 (25)	31
22	Shortridge	2017	2013-2014	US	369	1/16	0.03 to >32	75.1 (277)	32
23	Pfaller	2017	2012-2015	Europe	280	1/>32	0.03 to >32	65.4 (183)	3
24	Pfaller	2017	2013-2015	minus China, Australia, New Zealand	173	1/32	0.06 to >32	69.4 (120)	33
25	Pfaller	2017	2013-2015	Latin American (Argentina, Brazil, Chile, Mexico)	226	2/>32	0.03 to >32	56.6 (128)	34
26	Pfaller	2017	2013-2015	Australia, New Zealand	12	0.5/4	0.06-16	83.3 (10)	35
27	Tato	2015	2013	Spain	16	4/16	0.5-16	43.8 (7)	36
28	Sader	2014	UN	Europe	633	2/>32	≤0.12 to >32	60.4 (382)	37
29	Sader	2014	2012	US, Europe	21 <sup>d</sup>	1/>32	≤0.12 to >32	63.6 (13)	38
					67 <sup>e</sup>	2/>32	0.25 to >32	59.7 (40)	
30	Farrell	2014	2012	US, Europe	132	4/>32	≤0.5 to >32	57.6 (76)	39
31	Farrell	2013	2011-2012	US	244	32/>32	0.03 to >32	30.3 (74)	40

## Table 2. (Continued)

<sup>a</sup>Patients >65 years old.

<sup>b</sup>Intensive care unit.

<sup>c</sup>Immunocompromised patients.

dIntra-abdominal infections

<sup>e</sup>Urinary tract infections

ESBL, extended-spectrum β-lactamase; ESBLs-KP, ESBLs-producing *Klebsiella pneumoniae*; IAI, intra-abdominal infections; ND, no data; UTI, urinary tract infections; UN, unknown.

CI: 90.1–92.5%) [Figure 2(a)]. There was significant heterogeneity among the 31 studies  $(\chi^2 = 91.621; p < 0.001; I^2 = 67.256\%)$ . The symmetric funnel plots showed no evidence of publication bias [Figure 3(a)]. Egger's tests were performed to evaluate the publication biases quantitatively. According to the result of Egger's analysis (t=1.02, p=0.31), no evidence of publication bias was observed.

Also, most clinical isolates of ESBLs-KP had  $MIC_{50}$  at a concentration of  $1 \mu g/mL$  which 50%

of the isolates were inhibited. In contrast,  $MIC_{90}$  was at  $32\,\mu\text{g/mL}$  which 90% of the isolates were inhibited.

The pooled prevalence of Ceftolozane/ Tazobactam susceptibility for ESBLs-KP isolates was assessed at 65.6% (95% CI: 60.8–70.2%) [Figure 2(b)]. There was high significant heterogeneity among the 31 studies ( $\chi^2$ =348.72; p<0.001;  $I^2$ =91.4%). The symmetric funnel plots showed no evidence of publication bias [Figure 3(b)]. Egger's tests were performed to

(a) Study name		Statisti	cs for ea	ch study			Ev	ent rate and 95%	6 CI	
	Total	Event rate	Lower limit	Upper limit	Relative weight					
Shortridge 2022	135 / 143	0.944	0.892	0.972	2.73	- I	1	1	- T	
Hernandez-Garcia 202	2 67 / 75	0.893	0.801	0.946	2.64					
Ahmed 2022	37/38	0.974	0.835	0.996	0.54					-
Pfaller 2022	284/314	0.904	0.867	0.932	4.82					
Karlowsky 2021	64 / 74	0.865	0.767	0.926	2.96					
Belley 2021	390 / 418	0.933	0.905	0.953	4.77					
Shortridge 2021	1576 / 1698	0.928	0.915	0.940	6.22					
Pfaller 2020	1014 / 1064	0.953	0.939	0.964	5.52					
Hirsch 2020	88 / 90	0.978	0.915	0.994	1.00					
Golden 2020	29 / 29	0.983	0.783	0.999	0.28					
Garcia-Fernandez 2020	0 29/29	0.983	0.783	0.999	0.28					
Beirao 2020	94 / 102	0.922	0.851	0.960	2.69					-=-
Kuo 2020	42 / 45	0.933	0.813	0.978	1.35					
Karlowsky 2019	1930 / 2144	0.900	0.887	0.912	6.46					
Sader 2019	207 / 226	0.916	0.872	0.946	4.14					
Shortridge 2019	224 / 250	0.896	0.852	0.928	4.60					- 1
Amer 2019	50 / 50	0.990	0.862	0.999	0.29					
Carvalhaes 2019	122 / 134	0.910	0.849	0.948	3.35					-#1
Garcia-Fernandez 2019	9 39/46	0.848	0.714	0.926	2.35					
Bouxom 2018	78 / 100	0.780	0.688	0.851	4.11				- I -	<b>₽</b>
Seifert 2018	26/32	0.813	0.641	0.913	2.05					
Shortridge 2017	891 / 966	0.922	0.904	0.938	5.88					
Pfaller A 2017	518 / 559	0.927	0.902	0.946	5.27					
Pfaller B 2017	174 / 198	0.879	0.826	0.917	4.45					-
Pfaller C 2017	218 / 238	0.916	0.873	0.945	4.22					
Pfaller D 2017	47 / 47	0.990	0.854	0.999	0.29					
Tato 2015	30 / 30	0.984	0.789	0.999	0.28					
Sader A 2014	643 / 715	0.899	0.875	0.919	5.82					
Sader B 2014	195 / 208	0.938	0.895	0.963	3.54					-
Farrell 2014	71 / 76	0.934	0.851	0.972	1.99					
Farrell 2013	289 / 327	0.884	0.844	0.914	5.11					
		0.913	0.901	0.925			1			•
						-1.00	-0.50	0.00	0.50	1.00

### Meta Analysis

(b)	Study name		Statistics for each study					Event rate and 95% CI			
		Total	Event rate	Lower limit	Upper limit	Relative weight					
	Shortridge 2022	27/29	0.931	0.762	0.983	1.42	1	- T	1		
Her	mandez-Garcia 2022	45/66	0.682	0.561	0.782	3.43				<b>—</b>	- 1
	Ahmed 2022	55 / 55	0.991	0.873	0.999	0.50					
	Pfaller 2022	123 / 261	0.471	0.411	0.532	4.10				- <b>-</b>	
	Karlowsky 2021	57/85	0.671	0.564	0.762	3.61					• L
	Belley 2021	212 / 299	0.709	0.655	0.758	4.09					F
	Shortridge 2021	520 / 675	0.770	0.737	0.801	4.21					
	Pfaller 2020	445 / 646	0.689	0.652	0.723	4.23					
	Hirsch 2020	20 / 26	0.769	0.572	0.892	2.37					
	Golden 2020	6/11	0.545	0.268	0.797	1.81					- 1
Ga	rcia-Fernandez 2020	24/43	0.558	0.409	0.698	3.19					
	Beirao 2020	52 / 144	0.361	0.287	0.443	3.90					
	Kuo 2020	57 / 87	0.655	0.550	0.747	3.64					· I
	Karlowsky 2019	941 / 1343	0.701	0.676	0.725	4.29					
	Sader 2019	49 / 61	0.803	0.685	0.885	3.11					━
	Shortridge 2019	114/157	0.726	0.651	0.790	3.87				_   - <b>#</b>	F
	Amer 2019	50 / 50	0.990	0.862	0.999	0.50					_
	Carvalhaes 2019	93 / 116	0.802	0.719	0.865	3.60					━
Ga	rcia-Fernandez 2019	17/22	0.773	0.556	0.902	2.18					
	Bouxom 2018	26 / 50	0.520	0.383	0.654	3.32					
	Seifert 2018	25 / 40	0.625	0.468	0.760	3.08					•
	Pfaller A 2017	183 / 280	0.654	0.596	0.707	4.10				- I 🖶	
	Pfaller B 2017	120 / 173	0.694	0.621	0.758	3.93				_   -≣	·
	Pfaller C 2017	128 / 226	0.566	0.501	0.630	4.06					
	Pfaller D 2017	10/12	0.833	0.523	0.958	1.32					
	Shortridge 2017	277 / 369	0.751	0.704	0.792	4.12					
	Tato 2015	7/16	0.438	0.225	0.676	2.20					
	Sader A 2014	382 / 633	0.603	0.565	0.641	4.24					
	Sader B 2014	53 / 88	0.602	0.497	0.699	3.68					
	Farrell 2014	76 / 132	0.576	0.490	0.657	3.88					
	Farrell 2013	74 / 244	0.303	0.249	0.364	4.04				-	
			0.656	0.608	0.702					•	
							-1.00	-0.50	0.00	0.50	1.00

## Meta Analysis

**Figure 2.** Forest plot of the pooled prevalence of Ceftolozane–Tazobactam susceptibility. (a) The prevalence of Ceftolozane–Tazobactam susceptibility in ESBLs-EC isolates and (b) The prevalence of Ceftolozane–Tazobactam susceptibility in ESBLs-KP isolates.

ESBLs, Extended-spectrum  $\beta$ -lactamases; ESBLs-EC, ESBLs-producing *Escherichia coli*; ESBLs-KP, ESBLs-producing *Klebsiella pneumoniae*.



**Figure 3.** Funnel plot of meta-analysis on the pooled prevalence of Ceftolozane–Tazobactam susceptibility for evaluation of publication bias. (a) The Funnel plot of Ceftolozane–Tazobactam susceptibility in ESBLs-EC isolates and (b) The Funnel plot of Ceftolozane–Tazobactam susceptibility in ESBLs-KP isolates. ESBLs, Extended-spectrum  $\beta$ -lactamases; ESBLs-EC, ESBLs-producing *Escherichia coli*; ESBLs-KP, ESBLs-producing *Klebsiella pneumoniae*.

evaluate the publication biases quantitatively. According to the result of Egger's analysis (t=0.04, p=0.96), no evidence of publication bias was observed.

The sensitivity analysis was performed by excluding one study at a time to evaluate the impact of each study on the summary results and betweenstudy heterogeneity. None of the studies alone in the sensitivity analysis showed any significant effect on estimated prevalence (Supplemental Figure S1A and B).

Meta-regression results for susceptibility rate of ESBLs-EC (coefficient: -0.033, 95% CI: -0.111-0.043, p=0.4) and ESBLs-KP (coefficient: 0.036, 95% CI: -0.072-0.144, p=0.51) isolates against Ceftolozane/Tazobactam revealed that were not

significantly associated with the year (Supplemental Figures S2A and B). Supplemental Figure S2A and B shows the results of the influence analysis, showing that none of the studies affect the estimated pooled prevalence of susceptibility to Ceftolozane/Tazobactam.

## Discussion

Faced with a growing global health threat posed by increasing resistance to main therapeutic drugs against ESBLs-producing Enterobacterales, which has left clinicians with few viable alternatives, there is now an even greater need for introducing new effective antibiotics that demonstrate activity against ESBLs-producing gram-negative bacteria, especially ESBLs-EC and ESBLs-KP strains.<sup>31</sup> To spare carbapenems as the first choice for treating infections caused by ESBLsproducing Enterobacterales and to prevent the increase of carbapenem-resistant strains, the use of alternative drugs is essential.<sup>5,41,42</sup> This surveillance study evaluated the antimicrobial susceptibility profile of Ceftolozane/Tazobactam, an approved cephalosporin-beta-lactamase inhibitor combination, for treating infections caused by ESBLs-EC and ESBLs-KP strains on a global scale. To achieve this, we utilized the CLSI MIC interpretive criteria, which are predominant in the United States, Canada, and many regions outside Europe (such as Asia, the Middle East/ Africa, Asia/Pacific, Latin America, etc.), instead of the European Committee on Antimicrobial Susceptibility Testing (EUCAST)<sup>13</sup> to determine susceptibility rates.43,44

Pfaller et al. reported that Ceftolozane-Tazobactam exhibits the highest antimicrobial activity against P. aeruginosa and ranks second to meropenem against most enteric isolates with an ESBLs phenotype.<sup>22</sup> Our finding indicate the promising antibacterial activity of Ceftolozane/ Tazobactam against clinical isolates of ESBLs-EC, as evidenced by the low rate of non-susceptible isolates (9%). The assessed MIC values of Ceftolozane/Tazobactam against ESBLs-EC isolates were 0.5µg/mL for MIC<sub>50</sub> and 2µg/mL for  $MIC_{90}$ , which were slightly higher than the MIC values of carbapenems (Imipenem, Meropenem, Doripenem, and Ertapenem) for ESBLs-EC reported in the literature.2,3,5,24,26,30-34,36,39,40,45 In contrast to other studies, Hatem Amer et al. in Egypt reported that Ceftolozane/Tazobactam showed MIC<sub>50</sub> values of 0.064 and  $0.094 \mu g/mL$ against ESBLs-EC and ESBLs-KP isolated from blood-stream infections, respectively, compared to a MIC<sub>50</sub> value of  $0.125 \,\mu\text{g/mL}$  for meropenem. Additionally, the MIC<sub>90</sub> values for both drugs 0.25 µg/mL against ESBLs-EC were and ESBLs-KP isolates.<sup>4</sup> The frequency of certain resistant strains and the activity of Ceftolozane-Tazobactam vary across high-risk patients, such as those aged >65 years, patients in intensive care units, and immunocompromised patients, as well as in different geographical regions.<sup>22</sup> Although Ceftolozane/Tazobactam is less effective than carbapenems against ESBLs-EC strains, it is essential to highlight that its use can help reduce carbapenem utilization and the emergence of carbapenem-resistant strains. Ceftolozane/Tazobactam's relatively similar activity and cost-effectiveness

compared to carbapenems make it a valuable treatment option for infections caused by ESBLs-EC strains.<sup>2,30–32,46–48</sup> Based on several randomized clinical trials conducted in recent years, Ceftolozane/Tazobactam has been found to be comparable to meropenem as an effective and safe treatment option for complicated and life-threatening infections caused by ESBLproducing Enterobacterales.<sup>49–55</sup> Ceftolozane/ Tazobactam may confer a survival advantage over meropenem in invasive ESBLs-related infections, leading to lower mortality.<sup>52,54</sup> However, this effect needs confirmation through adequately powered prospective studies.

Based on previous studies, the results indicated a lower activity of Ceftolozane/Tazobactam against clinical isolates of ESBLs-KP due to a high rate of non-susceptible isolates (34.6%). The evaluated MIC values of Ceftolozane/Tazobactam against ESBLs-KP were  $1 \mu g/mL$  for MIC<sub>50</sub> and  $32 \mu g/mL$ for MIC<sub>90</sub>, which are much higher than the MIC values of carbapenems for ESBLs-KP reported in the literature.<sup>2,3,5,24,29-37,39,40,45</sup> Ceftolozane/ Tazobactam exhibits moderate activity against certain ESBLs-KP strains. This may be attributed to the coproduction of Carbapenemases in ESBLs-KP strains, which is less prevalent in E. coli. It is important to note that Ceftolozane/ Tazobactam lacks activity against K. pneumoniae carbapenemases, Metallo- $\beta$ -lactamases, or AmpC β-lactamases.<sup>9,36,56–58</sup>

Considering the results of meta-regression (Supplemental Figures S2A), the susceptibility rate of Ceftolozane/Tazobactam against ESBLs-EC isolates has shown a slight decrease during recent years, leading to an increase in the prevalence of resistant phenotypes. This finding suggests that the usage of Ceftolozane/Tazobactam and the pressure of natural selection may contribute to an increase in the prevalence of antibiotic-resistant ESBLs-EC strains in the future. On the other hand, the metaregression analysis related to the susceptibility rate of Ceftolozane/Tazobactam against ESBLs-KP isolates (Supplemental Figure S2B) did not reveal a significant increasing trend in the estimated pooled prevalence of susceptibility rate over time.

The main limitations of our study were the lack of a standard MIC breakpoint for defining Ceftolozane/Tazobactam susceptibility rates in some of the studies, and the absence of sufficient data about the molecular enzymes of the studied ESBLs strains.

In summary, the meta-analysis results demonstrate that ESBLs-EC isolates from different clinical sources show a higher susceptibility to Ceftolozane/Tazobactam compared to ESBLs-KP isolates. Although Ceftolozane/Tazobactam exhibits limited activity against ESBLs-KP strains when compared to carbapenems, it effectively inhibits the majority of clinical isolates of ESBLspositive Enterobacteriaceae. Therefore, it has the potential to serve as a valuable empirical therapeutic agent, offering an alternative to carbapenems for treating patients with infections caused by ESBLs-producing Enterobacteriaceae.

# Declarations

*Ethics approval and consent to participate* Not applicable.

*Consent for publication* Not applicable.

## Author contributions

**Marzieh Rahim Khorasani:** Investigation; Methodology; Writing – original draft.

**Soodabeh Rostami:** Methodology; Writing – review & editing.

**Arash Bakhshi:** Formal analysis; Software; Writing – original draft.

RahelehSheikhi:Conceptualization;Formalanalysis;Investigation;Methodology;Supervision;Writing – review & editing.

# Acknowledgements

We would like to thank Dr. Hadi Sedigh Ebrahim-Saraie for his tremendous technical support.

# Funding

The authors received no financial support for the research, authorship, and/or publication of this article.

# Competing interests

The authors declare that there is no conflict of interest.

# Availability of data and materials

The authors confirm that the data supporting the findings of this study are available within the

article and its supplementary material. Raw data that support the findings of this study are available from the corresponding author, upon reasonable request.

# **ORCID** iD

Raheleh Sheikhi (D) https://orcid.org/0000-0003-0760-1338

# Supplemental material

Supplemental material for this article is available online.

# References

- Tan K, Nguyen J, Nguyen K, *et al.* Prevalence of the carbapenem-heteroresistant phenotype among ESBL-producing Escherichia coli and Klebsiella pneumoniae clinical isolates. *J Antimicrob Chemother* 2020; 75: 1506–1512.
- Bouxom H, Fournier D, Bouiller K, *et al.* Which non-carbapenem antibiotics are active against extended-spectrum β-lactamase-producing Enterobacteriaceae? *Int J Antimicrob Agents* 2018; 52: 100–103.
- Pfaller MA, Bassetti M, Duncan LR, et al. Ceftolozane/tazobactam activity against drugresistant Enterobacteriaceae and Pseudomonas aeruginosa causing urinary tract and intraabdominal infections in Europe: report from an antimicrobial surveillance programme (2012–15). J Antimicrob Chemother 2017; 72: 1386–1395.
- Hatem Amer W, Abdel Rahman Elshweikh S and Mohammad Hablas N. Comparative study between β-lactam/β-lactamase inhibitors as alternatives for carbapenems in the treatment of extended-spectrum β-lactamase-producing Enterobacteriaceae. *Infect Dis Clin Pract* 2019; 27: 138–142.
- Karlowsky JA, Kazmierczak KM, Young K, et al. In vitro activity of ceftolozane/tazobactam against phenotypically defined extended-spectrum βlactamase (ESBL)-positive isolates of Escherichia coli and Klebsiella pneumoniae isolated from hospitalized patients (SMART 2016). *Diagn Microbiol Infect Dis* 2020; 96: 114925.
- Harris PNA, Tambyah PA, Lye DC, et al. Effect of piperacillin-tazobactam vs meropenem on 30-Day mortality for patients with E coli or Klebsiella pneumoniae bloodstream infection and ceftriaxone resistance: a randomized clinical trial. *JAMA* 2018; 320: 984–994.

- Viala B, Zaidi FZ, Bastide M, et al. Assessment of the In Vitro activities of ceftolozane/tazobactam and ceftazidime/avibactam in a collection of beta-lactam-resistant Enterobacteriaceae and Pseudomonas aeruginosa clinical isolates at Montpellier University Hospital, France. *Microb* Drug Resist 2019; 25: 1325–1329.
- Saran O, Sulik-Tyszka B, Basak GW, et al. Activity of ceftolozane/tazobactam against gramnegative rods of the family Enterobacteriaceae and Pseudomonas Spp. Isolated from oncohematological patients hospitalized in a clinical hospital in Poland. *Med Sci Monit* 2019; 25: 305–311.
- 9. Shortridge D, Duncan LR, Pfaller MA, et al. Activity of ceftolozane-tazobactam and comparators when tested against gram-negative isolates collected from paediatric patients in the USA and Europe between 2012 and 2016 as part of a global surveillance programme. Int J Antimicrob Agents 2019; 53: 637–643.
- Kowalska-Krochmal B and Dudek-Wicher R. The minimum inhibitory concentration of antibiotics: methods, interpretation, clinical relevance. *Pathogens* 2021; 10: 165.
- Lallemand EA, Lacroix MZ, Toutain PL, et al. In vitro degradation of antimicrobials during use of broth microdilution method can increase the measured minimal inhibitory and minimal bactericidal concentrations. *Front Microbiol* 2016; 7: 2051.
- Clinical and Laboratory Standards Institute. Performance standards for antimicrobial susceptibility testing, thirty firth informational supplement. CLSI Document M100-S31. Wayne, Pennsylvania, USA, 2021.
- The European Committee on antimicrobial susceptibility testing [EUCAST]. Breakpoint tables for interpretation of MICs and zone diameters. Version 9, 2019, pp. 24–28.
- 14. Munn Z, Moola S, Lisy K, *et al.* Methodological guidance for systematic reviews of observational epidemiological studies reporting prevalence and cumulative incidence data. *Int J Evid-Based Healthc* 2015; 13: 147–153.
- Shortridge D, Streit J, Pfaller M, et al. Activity of ceftolozane-tazobactam against gram-negative isolates from Australia and New Zealand as part of the PACTS surveillance 2016–2018. J Glob Antimicrob Resist 2022; 31: 98–103.
- Hernández-García M, García-Castillo M, Bou G, et al. Imipenem-relebactam susceptibility in Enterobacterales isolates recovered from ICU

patients from Spain and Portugal (SUPERIOR and STEP studies). *Microbiol Spectr* 2022; 10: e0292722.

- Ahmed MAS, Ibrahim EB, Hamid JM, et al. Evaluation of in vitro activity of ceftazidime/ avibactam and ceftolozane/tazobactam against ESBL-producing Enterobacterales isolated from intensive care units from Qatar. Oman Med J 2022; 37: e422.
- Pfaller M, Shortridge D, Chen WT, et al. Ceftolozane/tazobactam activity against drug-resistant Pseudomonas aeruginosa and enterobacterales causing healthcare-associated infections in eight Asian countries: report from an antimicrobial surveillance program (2016–2018). *Infect Drug Resist* 2022; 15: 6739–6753.
- Karlowsky JA, Lob SH, Young K, et al. Activity of ceftolozane/tazobactam against gram-negative isolates from patients with lower respiratory tract infections - SMART United States 2018–2019. BMC Microbiol 2021; 21: 74.
- Belley A, Morrissey I, Hawser S, *et al.* Thirdgeneration cephalosporin resistance in clinical isolates of Enterobacterales collected between 2016–2018 from USA and Europe: genotypic analysis of β-lactamases and comparative in vitro activity of cefepime/enmetazobactam. *J Glob Antimicrob Resist* 2021; 25: 93–101.
- 21. Shortridge D, Carvalhaes CG, Streit JM, et al. Susceptibility trends of ceftolozane/tazobactam and comparators when tested against U.S. gram-negative bacterial surveillance isolates (2012–2018). Diagn Microbiol Infect Dis 2021; 100: 115302.
- 22. Pfaller MA, Shortridge D, Arends SJR, et al. Activity of ceftolozane-tazobactam and comparators when tested against bacterial surveillance isolates collected from patients at risk of infections caused by resistant gramnegative pathogens. *Diagn Microbiol Infect Dis* 2020; 98: 115101.
- 23. Hirsch EB, Brigman HV, Zucchi PC, et al. Ceftolozane-tazobactam and ceftazidimeavibactam activity against β-lactam-resistant Pseudomonas aeruginosa and extended-spectrum β-lactamase-producing enterobacterales clinical isolates from U.S. Medical centres. J Glob Antimicrob Resist 2020; 22: 689–694.
- 24. Golden AR, Adam HJ, Baxter M, *et al.* in vitro activity of cefiderocol, a novel siderophore cephalosporin, against gram-negative bacilli isolated from patients in Canadian intensive care units. *Diagn Microbiol Infect Dis* 2020; 97: 115012.

- 25. García-Fernández S, García-Castillo M, Melo-Cristino J, et al. In vitro activity of ceftolozanetazobactam against Enterobacterales and Pseudomonas aeruginosa causing urinary, intraabdominal and lower respiratory tract infections in intensive care units in Portugal: the STEP multicenter study. Int J Antimicrob Agents 2020; 55: 105887.
- Beirão EM, Rodrigues SDS, Andrade TKD, et al. Activity of ceftolozane-tazobactam and comparators against gram-negative bacilli: results from the study for monitoring antimicrobial resistance trends (SMART – Brazil; 2016–2017). Braz J Infect Dis 2020; 24: 310–321.
- Kuo SC, Liu CE, Lu PL, et al. Activity of ceftolozane-tazobactam against gram-negative pathogens isolated from lower respiratory tract infections in the Asia-Pacific region: SMART 2015–2016. Int J Antimicrob Agents 2020; 55: 105883.
- Sader HS, Carvalhaes CG, Shortridge D, et al. 1445. Antimicrobial Activity of Novel β-Lactamase Inhibitor Combinations Tested against Organisms Causing Complicated Urinary Tract Infections in United States Medical Centers. Open Forum Infect Dis 2019; 6: S527–S528.
- Carvalhaes CG, Castanheira M, Sader HS, et al. Antimicrobial activity of ceftolozane-tazobactam tested against gram-negative contemporary (2015–2017) isolates from hospitalized patients with pneumonia in US medical centers. *Diagn Microbiol Infect Dis* 2019; 94: 93–102.
- 30. García-Fernández S, García-Castillo M, Bou G, et al. Activity of ceftolozane/tazobactam against Pseudomonas aeruginosa and Enterobacterales isolates recovered from intensive care unit patients in Spain: the SUPERIOR multicentre study. Int J Antimicrob Agents 2019; 53: 682–688.
- 31. Seifert H, Körber-Irrgang B and Kresken M. In-vitro activity of ceftolozane/tazobactam against Pseudomonas aeruginosa and Enterobacteriaceae isolates recovered from hospitalized patients in Germany. Int J Antimicrob Agents 2018; 51: 227–234.
- 32. Shortridge D, Pfaller MA, Castanheira M, et al. Antimicrobial activity of ceftolozanetazobactam tested against Enterobacteriaceae and Pseudomonas aeruginosa with various resistance patterns isolated in U.S. Hospitals (2013–2016) as part of the surveillance program: program to assess ceftolozane-tazobactam susceptibility. *Microb Drug Resist* 2018; 24: 563–577.

- Pfaller MA, Shortridge D, Sader HS, et al. Ceftolozane/tazobactam activity against drugresistant Enterobacteriaceae and Pseudomonas aeruginosa causing healthcare-associated infections in the Asia-Pacific region (minus China, Australia and New Zealand): report from an antimicrobial surveillance programme (2013–2015). Int J Antimicrob Agents 2018; 51: 181–189.
- 34. Pfaller MA, Shortridge D, Sader HS, et al. Ceftolozane-tazobactam activity against drugresistant Enterobacteriaceae and Pseudomonas aeruginosa causing healthcare-associated infections in Latin America: report from an antimicrobial surveillance program (2013–2015). Braz J Infect Dis 2017; 21: 627–637.
- 35. Pfaller MA, Shortridge D, Sader HS, et al. Ceftolozane-tazobactam activity against drugresistant Enterobacteriaceae and Pseudomonas aeruginosa causing healthcare-associated infections in Australia and New Zealand: report from an antimicrobial surveillance program (2013–2015). J Glob Antimicrob Resist 2017; 10: 186–194.
- 36. Tato M, García-Castillo M, Bofarull AM, et al. In vitro activity of ceftolozane/tazobactam against clinical isolates of Pseudomonas aeruginosa and Enterobacteriaceae recovered in Spanish medical centres: results of the CENIT study. Int J Antimicrob Agents 2015; 46: 502–510.
- Sader HS, Farrell DJ, Castanheira M, et al. Antimicrobial activity of ceftolozane/tazobactam tested against Pseudomonas aeruginosa and Enterobacteriaceae with various resistance patterns isolated in European hospitals (2011– 12). J Antimicrob Chemother 2014; 69: 2713– 2722.
- Sader HS, Farrell DJ, Flamm RK, et al. Ceftolozane/tazobactam activity tested against aerobic gram-negative organisms isolated from intra-abdominal and urinary tract infections in European and United States hospitals (2012). J Infect 2014; 69: 266–277.
- Farrell DJ, Sader HS, Flamm RK, et al. Ceftolozane/tazobactam activity tested against gram-negative bacterial isolates from hospitalised patients with pneumonia in US and European medical centres (2012). Int J Antimicrob Agents 2014; 43: 533–539.
- 40. Farrell DJ, Flamm RK, Sader HS, *et al.* Antimicrobial activity of ceftolozane-tazobactam tested against Enterobacteriaceae and Pseudomonas aeruginosa with various resistance

patterns isolated in U.S. Hospitals (2011–2012). Antimicrob Agents Chemother 2013; 57: 6305– 6310.

- Chen M, Zhang M, Huang P, et al. Novel βlactam/β-lactamase inhibitors versus alternative antibiotics for the treatment of complicated intraabdominal infection and complicated urinary tract infection: a meta-analysis of randomized controlled trials. *Expert Rev Anti-Infect Ther* 2018; 16: 111–120.
- Sheu CC, Lin SY, Chang YT, et al. Management of infections caused by extended-spectrum βlactamase-producing Enterobacteriaceae: current evidence and future prospects. Expert Rev Anti-Infect Ther 2018; 16: 205–218.
- Giske CG and Turnidge J. Update from the European committee on antimicrobial susceptibility testing (EUCAST). *J Clin Microbiol* 2022; 60: e0027621.
- Suravaram S, Hada V and Ahmed Siddiqui I. Comparison of antimicrobial susceptibility interpretation among Enterobacteriaceae using CLSI and EUCAST breakpoints. *Indian J Med Microbiol* 2021; 39: 315–319.
- 45. Castanheira M, Doyle TB, Mendes RE, et al. Comparative activities of ceftazidimeavibactam and ceftolozane-tazobactam against Enterobacteriaceae isolates producing extended-spectrum β-lactamases from U.S. Hospitals. Antimicrob Agents Chemother 2019; 63: e00160-19.
- 46. Karaiskos I and Giamarellou H. Carbapenemsparing strategies for ESBL producers: when and how. *Antibiotics* 2020; 9: 61.
- Nguyen CP, Dan Do TN, Bruggemann R, et al. Clinical cure rate and cost-effectiveness of carbapenem-sparing beta-lactams vs. Meropenem for gram-negative infections: a systematic review, meta-analysis, and cost-effectiveness analysis. Int J Antimicrob Agents 2019; 54: 790–797.
- Lee YR, McMahan D, McCall C, et al. Complicated intra-abdominal infections: the old antimicrobials and the new players. *Drugs* 2015; 75: 2097–2117.
- 49. Martin-Loeches I, Timsit JF, Kollef MH, et al. Clinical and microbiological outcomes, by causative pathogen, in the ASPECT-NP randomized, controlled, phase 3 trial comparing ceftolozane/tazobactam and meropenem for treatment of hospital-acquired/ventilatorassociated bacterial pneumonia. *J Antimicrob Chemother* 2022; 77: 1166–1177.

- Paterson DL, Bassetti M, Motyl M, et al. Ceftolozane/Tazobactam for hospital-acquired/ ventilator-associated bacterial pneumonia due to ESBL-producing Enterobacterales: a subgroup analysis of the ASPECT-NP clinical trial. *β* Antimicrob Chemother 2022; 77: 2522–2531.
- 51. Sun Y, Fan J, Chen G, et al. A phase III, multicenter, double-blind, randomized clinical trial to evaluate the efficacy and safety of ceftolozane/tazobactam plus metronidazole versus meropenem in Chinese participants with complicated intra-abdominal infections. Int J Infect Dis 2022; 123: 157–165.
- 52. Kollef MH, Timsit JF, Martin-Loeches I, *et al.* Outcomes in participants with failure of initial antibacterial therapy for hospital-acquired/ ventilator-associated bacterial pneumonia prior to enrollment in the randomized, controlled phase 3 ASPECT-NP trial of ceftolozane/tazobactam versus meropenem. *Crit Care* 2022; 26: 373.
- 53. Roilides E, Ashouri N, Bradley JS, et al. Safety and efficacy of ceftolozane/tazobactam versus meropenem in neonates and children with complicated urinary tract infection, including pyelonephritis: a phase 2, randomized clinical trial. *Pediatr Infect Dis J* 2023; 42: 292–298.
- 54. Timsit JF, Huntington JA, Wunderink RG, *et al.* Ceftolozane/tazobactam versus meropenem in patients with ventilated hospital-acquired bacterial pneumonia: subset analysis of the ASPECT-NP randomized, controlled phase 3 trial. *Crit Care* 2021; 25: 290.
- 55. Jackson CA, Newland J, Dementieva N, et al. Safety and efficacy of ceftolozane/tazobactam plus metronidazole versus meropenem from a phase 2, randomized clinical trial in pediatric participants with complicated intra-abdominal infection. *Pediatr Infect Dis J* 2023; 42: 557–563.
- 56. Escolà-Vergé L, Pigrau C and Almirante B. Ceftolozane/tazobactam for the treatment of complicated intra-abdominal and urinary tract infections: current perspectives and place in therapy. *Infect Drug Resist* 2019; 12: 1853–1867.
- 57. Montravers P and Bassetti M. The ideal patient profile for new beta-lactam/beta-lactamase inhibitors. *Curr Opin Infect Dis* 2018; 31: 587–593.
- Cantón R, Loza E, Arcay RM, et al. Antimicrobial activity of ceftolozane-tazobactam against Enterobacterales and Pseudomonas aeruginosa recovered during the study for monitoring antimicrobial resistance trends (SMART) program in Spain (2016–2018). Rev Esp Quimioter 2021; 34: 228–237.

Visit Sage journals online journals.sagepub.com/ home/tai

Sage journals